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1. In the diagram given below, the family of torque-slip characteristics of 3-phase
induction motor have curves at
Torque T 1
(1) different values of input voltage
(2) different values of rotor resistance
(3) different values of input frequency
(4) different values of rotor reactance
2. The equivalent circuit of a double cage rotor induction motor is equivalent to two
rotor circuits connected in
(1) Parallel (2) Series
(3) Series-parallel (4) FEither lor2
3. A 50 Hz induction motor operates well on 60 Hz supply provided its terminal voltage
is '
(1) Reduced to 5/6 of its name-plate rating
{2) Raised to 2/3 of its name-plate rating
(3) Raised to 6/5 (ie. 120%) of its name-plate rating
(4) Does not operate at all
4, The best method of control of speed of a 3-phase induction motor over a wide range,
amongst the given options is
(1) wvariable voltage, variable frequency control
(2) Trotor resistance control
(3) pole changing
(4) input voltage control
5. Star-delta starting of 3-phase induction motor is equivalent to auto-transformer

starting with
(1) 85% tapping (2) 58% tapping
(3) 52% tapping (4) 33% tapping
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6. VFD for induction motor control is popularly used in industries because

(1)

(2)

VFD allows direct connection of stator terminals to input supply terminals of
grid
VFD allows energy conservation and smooth control of speed

(3) VFD is the only method which is available commercially
(4) All the above
7. The length of air gap between stator and rotor of an induction motor is made as

small as practicable because otherwise

{1) The magnetizing current will be more
{2) The ball bearings which can match the respective stator and rotor may not be
available
(3) The power factor will be zero
(4) The labour cost during manufacturing increases
8. The speed control method of induction motor by changing the number of stator poles

is easily applicable to

(1)
(2)

Slip-ring induction motor of large rating only

Squirrel-cage induction motor only

{3) Both, slip-ring and squirrel-cage induction motors
(4) Wound-rotor motors of small rating only
9. At full load, the speed of an induction motor is
(1) more than its synchronous speed
(2) same as its synchronous speed
(3) half of its synchronous speed
(4) slightly less than its synchronous speed

10. In a 3-phase, 4-pole 50 Hz induction motor running at 1450 rpm, the frequency of
rotor currents will be

(1)
(2)
(3)
(4)

50 Hz
1-66 Hz
6-1 Hz
1-72 Hz
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11.  In case of synchronous motor, which of the following sentences are frue ?
a. Synchronous motor is not self-starting.

b. If the rotor poles are excited by field current and the stator terminals are
connected to AC supply, motor vibrates.

¢.  Variable frequency supply is used to start synchronous motor.

d. By using frequency converter, a synchronous motor can be brought from
standstill to its desired speed.

Answer options:

(1) Onlyaandb are true (2) Onlyb and ¢ are true

(3) All are true (4) None of the above

12.  Which of the following sentences are frue ?

a. Like most rotating machines, the synchronous machine can also operate as
both, generator and motor.

b. Linear version of synchronous motor is considered for high speed
transportation system.

¢. A synchronous machine is doubly excited machine.

d. Synchronous motors are as widely used as induction motors.
Answer options :

(1) All are true (2) a,band care true

(3} distrue (4) aand d are true

13.  Which of the following statements are true ?
a.  Asload increases armature current decreases, regardless of excitation,

b. For under and overexcited motors, power factor tends to approach zero with
increase in load.

c.  With normal excitation when load is increased, change in armature current is
greater than in power factor which tends to become increasingly leading.

d. Both with under and overexcitation, change in power factor is greater than in
armature current with increase in load.

Answer options:
(1) a,bandcaretrue (2) Onlycis true

(3) Onlyd istrue (4) None of the above
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14.  Which of the following sentences are frue ?

a. Low speed multipolar synchronous machines have salient poles and uniform
air gaps.

b. Low speed multipolar synchronous machines have salient poles and
non-uniform air gaps.

c.  Magnetic reluctance is high along poles and low between poles.
d. Magnetic reluctance is low along poles and high between poles.
Answer options :

{1) aandc are true

(2} b andd are true

(3) aistrue

(4) candd are true

15. A linear induction motor has 98 poles and a pole pitch of 50 cm. Determine the
synchronous speed and the vehicle speed in km/hr, if frequency is 50 Hz and slip is
0-25.

(1) 180 km/hr, 135 km/hr
(2) 135 km/hr, 180 knvhr
{3) 180 km/hr, 130 kmv/hr

(4) 185 kmv/hr, 135 km/hr

16.  Synchronous motor operates at
(1) Lagging power factor only
(2) Leading power factor only
(3)  Unity power factor only

{4)  All of the above
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17. A synchronous motor on load draws a current at a leading pf angle. If the internal pf
angle, which is the phase angle between the excitation emf and the current in the
time-phasor diagram, is v, then the air-gap excitation mmf lags the armature mmf

by

(L v

(2) gw
T

AR

(3) 5 W

4) w+o

18.  While starting a 3-phase synchronous motor, it’s field winding should be
(1) kept open
(2) short-circuited
(3) connected to a dc source
(4) None of the above

19. A salient-pole synchronous motor is running clockwise at no-load. If its field current
is reduced to zero and then reversed, then

(1) the motor would stop
{2) the motor would run in the reverse direction
(3) the motor slips by one pole-pitch and continues running at synchronous speed

{4) the motor slips by one pole-pitch and speed would be less than synchronous
speed

20. A single-phase synchronous motor having non-projected poles which does not need
any excitation to rotor is known as

(1) Reluctance motor
{2) Repulsion motor
(3) Hystresis motor

{4) Shaded pole motor
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21.  The following parameter in op-amp is not a temperature sensitive parameter.
(1} Input resistance
{2) Power consumption
(3} Open loop voltage gain

{4) Output short circuit current

22,  Which of the following sentences are true ?

a. When D/A converter is used in conjunction with multiplexer the maximum rate
at which converter can operate must be considered.

b. When D/A converter is used with multiplexer the minimum rate at which
converter can operate must be considered.

c.  Each time data is shifted into register, transience appear at the output of the
converter. This is due to different rise and fall times of each flip-flop.

d. The settling time is the main factor determining maximum rate of
multiplexing.

Answer options :

(1) a,candd are true

(2) Onlybis true

(3) aandb are true

{4y b and c are true

28.  AND-OR realization is equivalent to
(1) NAND-NAND
(2) NOR-NOR
(3) OR-AND
(4) None of the above

24.  The breakdown voltage in a zener diode
(1) 1is almost constant
(2) 1is very small
(3) may destroy the diode

(4) decreases with increase in current
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25.  Which of the following sentences are true ?

a. Two simple but important tests performed to check the operation of D/A
converter are transient test and monotonocity test.

b. Two simple but important tests performed to check the operation of D/A
converter are steady state accuracy test and monotonocity test.

c. Checking monotonicity means checking output voltage increase as the input
digital signal increases.

d. For proper monotonicity the output waveform should be perfect ramp
waveform.

Answer options:
(1) Only ais true (2) b and c are true
(3} b, candd are true (4) Onlyd is true

26. Output impedance of ideal OP-AMP is
(1) low (2) high
(3) infinite (4) zero

27, Logic circuits are
(1) analog circuits
(2) digital circuits
(3) hybrid circuits
(4)  None of the above

28.  Which of the following sentences are true ?
a. A dual slope A/D converter is slower than other types of A/D converter.
b.  D/A converters use various inverters, gates and flip-flops.
c.  A/D converters use R to R connecting resistors.
d. Successive approximation method has much faster conversion time.
Answer options:
(1) aand b are true
(2) Onlybis true
(3) bandc aretrue

(4) aandd are true
T BTHTFIS! JT / SPACE FOR ROUGH WORK : P.T.O.
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29.  Which of the following sentences are true ?
a.  Flip flop is often called as latch.
b. InR-Sflipflop S=1, flip flop is set Q = 0.
¢. InR-SflipflopR =1, flip flop is reset @ = 1.
d. Flip flop is a memory device.
Answer options :
(1) aandd are true
(2) aand b are true
{3) bandcare true

{(4) candd are true

30. In the summing amplifier shown below

R Ry

a
+ V) —— NN/
R
+ Vi e ——
RC
Ve o VVVY + V.

e
1 ~ V.,

V,=1V,V},=2V,V, =3V
R,=R, =R, =3kQ, Re=1kQ
Supply voltage=+ 15V

Determine the V, - output voltage

(L 2V
(2) -2V
(3) 4V
4) -4V
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31.  The desirable static characteristics of a measuring system are
(1) Accuracy (2) Sensitivity
(3) Reproducibility (4)  All of the above
32. The secondary of CT is never left open-circuited because
(1) heat dissipation in the core will be very large
(2) the core will be saturated and permanently magnetised rendering it useless
(3) dangerously high emfs will be induced in the secondary
(4) All of the above
33.  The device used for measurement of temperatures exceeding 1500° C is
(1) RTD
(2) Radiation pyrometer
(3) Thermocouple
(4) Thermopile
34.  The overall transfer function C(s)/R(s) of the system shown in the figure below is

Hy
+ C(s)
GZ -
|y e
(1) G1Go - (2) GGy
1- G1H2 + G’leHl 1+ GlHl — GlGQHz
CIR— L S— (4) G1Gy
1+ G2H1 + G1G2H2 GZHI - G1H1G2
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35. The Nyquist plot of an open loop transfer function G{jo) H(jw) of a system encloses
the (- 1, 10) point. The gain margin of the system is
(1} less than zero
(2) zero
(3) greater than zero
(4) infinity

36.  Which of the following sentences are frue ?

a. The device which converts the energy from one form to another is called

transducer.
b. Bourdon tube is secondary type of transducer.
c. In most measurement systems, electrical device acts as primary detector.
d. Sensing element is not part of transducer.
Answer options :
(1) a,bandcare frue
(2) b, candd are true
(3)  Only ais true
(4) Only d is true

37.  Which of the following statements are true ?
a.  Strain gauges are based on piezo-resistive effect.
b.  The strain gauges should have high resistance coefficient.

c.  The gauge factor is defined as the ratio of per unit change in resistance to per
unit change in length.

d.  Strain gauge should have low value of gauge factor to result high sensitivity.
Answer options :

{1} Onlybis true

(2) b and c are true

{3) aandcare true

{4) candd are true
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38. Which of the following sentences are true ?

a. The most widely used inductive transducer is the Linear Variable Differential
Transducer.

b. LVDT consists of single primary and two secondary windings in series
opposition.

¢.  Linearity of 0-05 is available in commercial LVDT.
d. LVDT is sensitive to stray magnetic fields.
Answer options :

(1) Only ais true

(2) b, c,d are true

(3) All are true

(4) None of the above

39.  Which of the following sentences are true ?

a. In resistive thermometer, the change in resistance of material per unit change
in temperature should be as small as possible,

b. Thermometers are semiconductors which behave as resistors with high positive
temperature coefficient.

¢.  Thermometers are composed of metallic oxides.

d. Thermometers are used for measurement of level flow and pressure of liquids.
Answer options :

(1) aandb are true

(2) b and c are true

(3) onlycistrue

(4) onlydis true

40. A set of independent current measurements are recorded as 10-03, 10-10, 10-11 and
10-08 A. Calculate (a) average current, and (b) range of error.

(1) a=10-08A, b=+0-04A
{2) a=10-08A, b=1005A
(3) a=10-05A, b=+£005A
(4) a=1005A, b=+004 A
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41.  Load curve for fan type of load is (0 is speed)
(1) Txw
(2) T x @2
(3) Txawd
(4) None of the above
42, A single-phase full converter is supplied from 230 V, 50 Hz source. Load is R-L load.
At « = 60°, calculate average dc voltage.
(1) 1036V (2) 206V
(3) 230V 4y 320V
43. In VFD of induction motor, if stator frequency is varied till its rated frequency, then
drive operates in
(1) constant torque region
(2} constant power region
(3) (1) and (2) both
(4) None of the above
44, In single width pulse modulation of PWM inverter, third harmonic can be eliminated
if pulse width is equal to
(1) 30°
(2) 60°
3y 120°
{4) None of the above
45. If chopper frequency is 1 kHz and on time is 0-5 m sec.. the duty cycle is

(1) 06
(2) 05
(3) 08

(4) None of the above
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46.  For continuous conduction in single-phase full converter, each pair of SCP’s conducts

for
(1) nradian (2) n - oradian
(3) m+ aradian (4) aradian

47.  For controlling the speed of dc motor of 200 hp rating, the following type of converter

1s normally used :

(1) Single-phase full converter
(2) Single-phase dual converter
(3} Three-phase full converter
{4) Three-phase dual converter

48. In ac drives, stable operating point is when
(1) Load torque is equal to electromagnetic torque
(2) Load torque is greater than electromagnetic torque
(3) Load torque is less than electromagnetic torque

(4) None of the above

49. A single-phase voltage source inverter has square wave input voltage. If pure

inductive load is connected to it, the nature of load current waveform will be
(1} square (2} sinusoidal

(3) triangular . (4) trapezoidal

50. A dc chopper is fed from 200 V dc. Output voltage is rectangular pulses with
T,, =1ms and T = 3 ms. The average output voltage and ripple factor for this

o
chopper are

{1} 6666V,1
{2y 50V, 1

(3) 66:66V,15

{(4) None of the above
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51. The bus admittance matrix of a power system is given as

1 2 3
1] —j50 +j10 +j5
2| +j10 -i30 +j10
31 +J5 +510 —Jj2h

The impedance of line between bus 2 and bus 3 will be equal to

(1) +j01 (2) -jo1 (3) +jO-2 4 - j0-2

52. A system has connected load of 120 kW, peak load of 100 kW, base load of 25 kW and
average load of 48 kW. The load factor of the consumer is

(1) 40% (2) 48% (3)  2H% 4y  8B3-3%

53.  Overhead transmission lines are transposed because
(1) Efficiency improves
(2)  Voltage regulation improves
(3)  Unbalance reduces

(4) None of the above

54.  The bus impedance matrix of a 4-bus power system is given by
j0-3435  j0-2860  jO-2723  j0-2277

Jj0-2860 j0-3408 Jj0-25686 j0-24 14
Zbus =

j0-2723  j0-2586  jO-2791  j0-2209

| j0-2277  j0-2414  j0-2209  j0-2791

A branch having an impedance of jO0-2 Q is connected between bus 2 and the
reference. Then the values of Zyy, new and Z, ;. new of the bus impedance matrix of
the modified network are respectively

(1) j0-5408 Q@ and jO-4586 Q
(2)  j0-1260 Q and j0-0956 Q
(3) j0-5408 Q and j0-0956 O
(4)  j0-1260 Q and j0-1630 Q

Teeg] BHTTIS! I / SPACE FOR ROUGH WORK



17 R13

55.  Diversity factor in a power system is

(D)
(2)

(3)

(4)

always less than unity
normally less than unity
always more than unity

normally more than unity

56.  Series compensation of long transmission line results in

(1)
(2)
(3)
(4)

Lower voltage drop only
Maximum power transfer only
Lower voltage drop and maximum power transfer

Higher voltage drop

57. A sample power system network is shown in the figure. The reactances marked are
in pu. What is the pu value of Yo, of the Bus Admittances Matrix (Yg,,g) ?

(D
(2)
(3)
(4)

j10:0
j0-5
-jo-1

—-j20-0
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58. A 10 km lossless line has a reactance of 0-3 (¥km. The ABCD constants are

10 153
(1) (2) |

03 1 0 1,

i3 0} 1 0]
(3) i 4 *’

11 B 1

59.  Which of the following sentence is more correct with respect to power flow in
transmission system ?

(1) Change in voltage magnitude affects real power
(2)  Change in load angle affects reactive power
(3) Change in voltage affects frequency

{4) Change in load angle affects real power

60. In the symmetrical component expression of voltages, we have
Vo [Va]
V| = [A]| V2
LVC i VaO

where matrix [A] is

[1 a 1 1w o
(1) a2 w1 (2) 1 w® a
Lo a® 1 1 v
1 1 1] 1 1 1
(3) a? w1 4y u R
[« u? 1] 1 «w a 1
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61.  Stringing charts of transmission lines are curves between
(1) Sag versus tension (2) Sag and tension versus temperature
(3} Sag versus height (4) Tension versus height
62.  Voltage stability is also known as load stability and is strongly influenced by
a.  Dynamic characteristics and static response of the load.
b.  The load characteristics, set of parameters such as power factor or variation of
active and reactive powers with voltage and frequency.
¢.  The frequency dependency of active and reactive power.
d. Load, a device connected to power system that consumers active or reactive
pOwer.
Identify the incorrect statements.
(1) aandb (2) bandc (3) aandc (4) aandd
63. For transient stability analysis, as long as equal area criterion is satisfied, the
maximum angle to which rotor angle can oscillate is
(1) 90° (2} 45°
(3} Greater than 90° (4} Less than 90°
64. The resistance and reactance of a short line are equal. At zero regulation, the load
will be
(1) Unity power factor (2) Zero power factor
(3) 0-707 lag (4)  0-707 lead
65. The load frequency control is the basic control mechanism. Whenever there is

variation in load demand, there is unbalance between real power input_and output.
The difference is supplied by the energy of rotating parts given by KE = 3 I w?.

In this connection, which of the following statements are incorrect ?

a. If KE reduces, o decreases, speed falls and frequency increases.

b.  The change in frequency is sensed and fed back to control the position of inlet
valve of prime movers.

¢.  The input to prime movers tries to bring the balance between real power input
and output,

d. The frequency variation is not dependent on real power balance of the system.
Answer options:
(1} aandd (2) bandd (3} bandc (4) aandc

Feed] BRTITS! WA / SPACE FOR ROUGH WORK P.T.O.
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66.  Which of the following mainly leads to voltage instability ?
(1) Transfer of reactive power
(2) Transfer of active power
(3) Transfer of dc power
(4) ‘Transfer of harmonic power
67. Generally in load flow solutions, the load is modelled as a
(1} constant impedance load
(2) constant power load
(3) constant current load
(4) dynamically varying load
68. What is the minimum safety factor in respect to the conductor tension ?
(1) 1
(2) 2
(3) 3
4) 15
69.  The receiving-end voltage for a long line under no-load condition is
{1) less than the sending-end voltage
(2) more than the sending-end voltage
{3) equal to the sending-end voltage
(4) Any of the above
70,  The slack bus has to be a

(1)
(2)
(3)
{4)

Generator bus
Load bus
Generator or Load bus

Neither generator nor load bus
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71.  Which of the following statements are true ?

a. Rg or Ry, transient circuit with one capacitor and inductor is called as first

order circuit.
b.  To obtain voltage and current in the circuit differential equations are solved.
c.  Voltage across capacitor cannot be changed suddenly.

d. In steady state with independent DC sources capacitors behave as short circuit.
Answer options:

(1) aand b are true

(2) b and c are true

(3) candd are true

(4) a,bandc are true

72. A current of 2 A flows for 10 hours through a 100 ohm resistor. The energy
consumed by the resistor will be

(1) 0-4kWh (2) 4kWh
(3) 2kWh (4) 0-02kWh

73.  You are given the following electrical appliances :
a. 1kW, 250V electric heater
b. 1kW, 250 V electric kettle
C. 1 kW, 250 V electric bulb

Which of the above has the highest resistance ?

{1) Heater
(2) Kettle
{3) Bulb

(4) All have equal resistance

FHoedT BETATS! SIAT / SPACE FOR ROUGH WORK P.T.O.
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74.  The relationship between line and phase voltages and currents in star connected
networks is given by

I
(1) Vph = VL’ Iph = —L-

V3

Elhzl_L.
NERR NG

(3) Vph = VL, Iph = IL

(2) Vpp =

VL

e,

75. A balanced 3-phase 3-wire supply feeds balanced star connected resistors. If one of
the resistors is disconnected, then the percentage reduction in the power

consumption is
(1) 33-33% (2)  b0%
(3) 66-67% 4)  T5%

76.  Which of the following sentences is/are true for R; and R circuits ?
a. Time constant is defined as the time required to charge 33% of full charge.
b.  Unit of time is second which is equal to ohm = farad = hehnry :
onm

¢. Time constant is defined as the time required to charge 90% of full charge.

d. Time constant is defined as the time required to charge 63-21% of full charge.

Answer options :
(1) Only a1s true (2) aand c are true

(3) b andc are true {4) b and d are true

77.  When a circuit is represented by equivalent Thevenin’s circuit and Norton’s circuit
{1) Norton resistance < Thevenin resistance
(2) Norton resistance = Thevenin resistance
(3) Norton resistance > Thevenin resistance

{4) Cannot comment
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78.  The parameters of the Thevenin’s equivalent circuit for the network shown below are
10 15 Q
AAAA A
L A l) = 100V
“T50V g ? T-
(2) Ryy=25Q; Vpg =50V
(3) Rpy=69Q; Vpg=70V
79.  An air capacitor has two parallel plates 10 em? in area and 0-5 cm apart. When a
dielectric slab of area 10 cm? and thickness of 0-4 cm is inserted between the plates,
one of the plates has to be moved by 0-4 cm to restore the capacitance. Then what is
the dielectric constant of the slab ?
1) 5 @ 05
(3) 0-005 4) 005
80. In the network shown in the figure given below C = 5 uf and R = 2 MQ. The potential

at P, at the instant of closing the switch S and 10 seconds after closing S will
respectively be

S C
]
100V
§ R
- 1
(1) 0Vand63-2V (2) 100V and 632V
(3) 0Vand368YV (4) 100V and 368V
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81. The term “permittivity” is associated with _~___ and the term “permeability”
is associated with _respectivelv.
(1) Electromagnetism, Electrostatic
(2) Electromagnetism, Electromagnetism
(3) Electrostatic, Electromagnetism
{(4) Electrostatic, Electrostatic
82. Can a 50 Hz transformer be used for 25 Hz, if the input voltage is maintained
constant at the rated value corresponding to 50 Hz ?
(1) Yes, since the voltage is constant, current level will not change.
(2) No, flux will be doubled, which will drive the wire to excessive saturation.
(3) No, owing to decreased resistance of transformer, input current will be doubled
at the load.
(4) Yes, at constant voltage, insulation will not be overstressed.
83. A solenoid has 4000 turns over it with inductance of 0-126 H. The energy stored in
the magnetic field, when a current of 2 A flows in the solenoid will be
(1) 0-252J (2) 8000 J
(3) 0-504.) 4y 1008
84. For the parallel operation of single-phase transformers, it is necessary that they
should have
(1) same efficiency
(2) same polarity
{(3) same kVA rating
(4) same number of turns on the secondary side
85. Energy stored by a coil is doubled when its current is increased by

(1) 100%

(2) 50%
(3) 41-4%
(4) 25%
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86. A three-phase transformer has its primary winding connected in delta and secondary
winding in star. Secondary to primary turns ratio per phase is 5. For a primary
voltage of 400 V (phase to phase), the secondary voltage (phase to phase) would be
(1) 80V
(2) 8043V
(3) 3464V
(4) 2000V

87. A short-circuit test on a transformer is usually performed with
(1) high voltage side short-circuited
(2) low voltage side short-circuited
(3) low voltage side open-circuited
(4) Low and high voltage side open-circuited

88. At 50 Hz operation, a single-phase transformer has hysteresis loss of 200 W and
eddy current loss of 100 W. Its core loss at 60 Hz operation will be
(1) 432W
(2) 408 W
(3) 384 W
{4y 360W

89. For performing load test on three-phase transformer, primary and secondary
windings are connected in
(1) Star and Delta respectively
(2) Star-Star respectively
(3) Delta-Star respectively
(4) Delta-Delta respectively

90. Two charges of equal magnitude are separated by some distance. If the charges are

increased by 10%; to get the same force between them, their separation must be
(1) increased by 21%
(2) increased by 10%
(3) decreased by 10%
(4) None of the above
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91. In a 4-pole, 25 kW, 200 V, wave wound DC shunt generator, the current in each
parallel path will be
(L) 625A 2y 125 A (3) 3125A (4) 250 A

92.  The speed of a DC shunt generator tends to decrease when load connected across it
is increased. The probable reason is
(1) DC generator is normally designed to work at constant load and it cannot
sustain any change in 1t.
{2} There is a counteracting torque generated in armature and it increases with
loac.
(31 Field winding receives less current and produces legs flux

1 All of the above

93.  The speed of DX shunt motor ean be increased above its rated speed by
(1} Increasing the supply voltage within its rated value
{(2; inereasing the flux per pole
{317 decreasing the flux per pole

{4 connecting additional resistance in series of the armature

94, Most stitable mownre for electric traction 1s
(1i DC series motor {2y DC compound motor
3 DO shunt molor i4)  None of the ahove

95. A DC semes motor develops a torque of 20 Nm at 3 A of load current. If the current 1s

increased to 6 A, the torque developed will be

(1} 10 Nm (23 20 Nm 133 B0 Nm i4) 40 Nm
96. [n the figure shiown below, the rotor is rotated by prime mover in clockwise direction.

What will be the direction of emnf or eurrent induced in conductors A and B ?
N

R

T
AN

1y A={), B=(X 2 A=(), B=(")
3 A=(), B={) 4 A=), B=X®
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97.  Which of the following speed control methods of DC motor requires auxiliary motor
or a prime mover ?

(1) Flux control

(2) Armature control

(3) Voltage control

(4) Ward-Leonard control

98. Consider the following statements regarding the starting of a DC shunt motor :
a.  External field resistance should be minimum.
b.  External Field resistance should be maximum.
c.  Reduced voltage should be applied to the armature.
d. Increased voltage should be applied to the armature.
Which of the above statements are correct ?
(1) aandc are correct
(2) aandd are correct
(3) b and care correct

(4) b andd are correct

99. In a DC machine, lap winding is used for
(1) Low voltage, low current generators
(2) Low voltage, high current generators
{3) High voltage, low current generators

(4) High voltage, high current generators

100. The back emf of a 220 V, 100 A separately excited DC motor is 221-65 V., If motor is
to be braked by plugging, what should ‘be the total armature circuit resistance to
limit braking current to 200 A ?

{Note : E, >V, since motor is running at a higher speed than rated)
(1) Only armature winding resistance will be‘ sufficient

(2) 2-21 ohm

(3) 0-00825 ohm

(4> 0-0165 chm
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(8) wvyferraed fafgq shoeen fafire awfe += #m (16 9%) T, ygasataiaa T a1 5@
FIEEL FHod HH hedTH o HId] FOATA A el AR, 374 TS I 9 FAEN SHGIR THH
T Ferew wlamed gom=n fgwr vy sameEed afafem -8 @ wgdgan Sran
FOAE I3 o Sl SRl FHT U auieAT SIOEETAT ST/ AT T3 U g9 WY e e
T EE.

(9) T gwaFEE S fafen el 9o Guvara ST § YTAYeee et TaTHTETa
R AU TEE AR, W Qe heErgt AaigE] IEaR SuedT AT WR-1
AUANEHTEHS 7 FHwwan ata w0l snayas g,

T ST

Pick out the correct word to fill in the blank :

Q. No. 201. I congratulate you your grand success.
(1) for {2) at
{3) on {4) about

B YA A0 W OC(3) on’ MW AR, WM T YEN IN (3) BEA. araa
T T . 201 @tE TREEE (D) 2 ade i st S gt
HTavER AR,

w20 O @ @ &

T UgHN TEgA WAYahd e Yo WA U1 IAGRETR 81 JraTe SEasted Qe
ITBEhalld T T THHIREH S Tafia age Yo swifRd &EA qraeral. g
wad HIEAT IR "o arard, of=re = v 9 anas 1y,
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